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Similar Triangles.....
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1. Determine tan X and
tan 7.

© konx:z Bz £ 03
ﬂdj 12

12

"= ) -Ean%-f’_‘ﬁ'.ﬁ-.ﬂ:&‘
6 ﬂj ¢



Se\wwe & i
or © n degrees

'- L
() write tangend rafro

'tﬂkﬁ Q- LW
. acly
ton®* &
(L S¢™ " ES:G
o ]
e il
008y -
_ O = tan' (&3
. 9.0
| Tani e UNT



DEG

\U,.,—\_,-r""—\—l—'_\-\.,-l"'_\-\—'—"'_'_\_
on  grophing colt

\Maﬁl P ke SMYE d@%r{i‘i&; 1S
y\tobmccbhwd-



2. Determine the measures of 2K

and ZN to the nearest tenth of

a degree.
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2.1 The Tangent Ratio

%

The angle of inclination of a line or
line segment is the acute angle it
makes with the horizontal

root gc  fome”

The angle of elevation of an

object above the horizontal is the
angle between the horizontal and
the line of sight from an observer



The latitude of Fort Smith, NWT, is solar panel

approximately 60°, Determine whether
this design for a solar panel is the best for
Fort Smith. Justify your answer.
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3.

Clyde River on Baffin Island,
Nunavut, has a latitude of
approximately 70°. The
diagram shows the side view of
some solar panels. Determine
whether this design for solar
panels is the best for Clyde
River. Justify your answer.
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A 10-ft. ladder leans against the side of a building with

its base 4 ft. from the wall.

What angle, to the nearest degree, does the ladder
make with the ground?
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